

City of Port St. Lucie Procurement Management Division

121 SW Port St. Lucie Blvd,, Port St. Lucie, FL 34984

EVALUATION TABULATION

IFB No. 20250198

Wilderness Trail Construction Project

RESPONSE DEADLINE: September 30, 2025 at 2:00 pm Report Generated: Thursday, October 23, 2025

SELECTED VENDOR TOTALS

Vendor	Total
Mike's Organic Topsoil	\$2,860.00
Loren Jock Trucking, Inc.	\$1,979,359.30
XGD Systems, LLC dba Eco Blue Systems	\$2,473,648.251
BDI marine and sitework	\$2,998,755.94
Close Construction Services, LLC	\$3,140,195.44
So Cal Shaker Plates And Construction Site Services LLC	\$3,262,317.00
Ferreira Construction Company, Inc.	\$3,358,964.058

BASE BID (Table 1 of 2)

		BASE BID			BDI mar	ine and sitewor	k _	Close Const	ruction Services	s, LLC	Ferreira Cons	struction Compar	ny, Inc.	Loren Jo	ock Trucking, In	ıc.
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #
GENERAL			•	•												
Х	1	Mobilization, Incl. Video Survey Staking & As-Builts Drawings	1	LS	\$150,000.00	\$150,000.00	101- 99	\$160,000.00	\$160,000.00	101- 99	\$255,176.59	\$255,176.59	101- 99	\$240,000.00	\$240,000.00	101- 99
Х	2	Maintenance of Traffic / Parking / Detours	1	LS	\$15,000.00	\$15,000.00	102-1	\$20,000.00	\$20,000.00	102-1	\$8,171.88	\$8,171.88	102-1	\$14,500.00	\$14,500.00	102-1
X	3	Turbidity Barrier/ NPDES Compliance (Erosion Control)	1	LS	\$33,000.00	\$33,000.00	104	\$35,000.00	\$35,000.00	104	\$2,112.09	\$2,112.09	104	\$4,160.00	\$4,160.00	104
Х	4	Silt Fence (Sediment Barrier)	11580	LF	\$2.45	\$28,371.00	104- 10-3	\$1.75	\$20,265.00	104- 10-3	\$2.87	\$33,234.60	104- 10-3	\$1.80	\$20,844.00	104- 10-3
Х	5	Clearing and Grubbing / Demolition (Trail Length * 50 feet)	6.6	AC	\$5,000.00	\$33,000.00	110- 1-1	\$12,500.00	\$82,500.00	110- 1-1	\$15,634.47	\$103,187.502	110- 1-1	\$3,720.00	\$24,552.00	110- 1-1
Х	6	Regular Excavation	50	CY	\$65.00	\$3,250.00	120-1	\$80.00	\$4,000.00	120-1	\$31.45	\$1,572.50	120-1	\$12.00	\$600.00	120-1
Х	7	Embankment	600	CY	\$54.00	\$32,400.00	120-6	\$80.00	\$48,000.00	120-6	\$42.98	\$25,788.00	120-6	\$23.90	\$14,340.00	120-6

		BASE BID			BDI ma	rine and sitewor	rk	Close Cons	truction Service	s, LLC	Ferreira Con	struction Compa	ny, Inc.	Loren Jo	ock Trucking, In	ıc.
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #
X	8	Performance Turf, Sod (Item 110-1-1 minus Trail Area)	25800	SY	\$6.50	\$167,700.00	510- 1-2	\$3.00	\$77,400.00	510- 1-2	\$3.30	\$85,140.00	510- 1-2	\$3.25	\$83,850.00	510- 1-2
X	9	Swale	1020	LF	\$28.00	\$28,560.00	514- 72	\$65.00	\$66,300.00	514- 72	\$13.62	\$13,892.40	514- 72	\$3.90	\$3,978.00	514- 72
X	10	Concrete Trail (4" thick) including 12" compacted subgrade	6290	SY	\$66.00	\$415,140.00	522-1	\$76.50	\$481,185.00	522-1	\$82.92	\$521,566.80	522-1	\$26.00	\$163,540.00	522-1
X	11	Concrete Sidewalk Through Parking (6" thick) includes 12" compacted Subgrade	76	SY	\$130.00	\$9,880.00	522-2	\$146.89	\$11,163.64	522-2	\$137.78	\$10,471.28	522-2	\$41.00	\$3,116.00	522-2
Х	12	Detectable Warnings (ADA Mats)	252	SF	\$80.00	\$20,160.00	527-2	\$25.00	\$6,300.00	527-2	\$64.62	\$16,284.24	527-2	\$14.50	\$3,654.00	527-2
DRAINAG	iΕ					l	"		I		1		'		1	
X	13	15" Culvert, Optional Material	560	LF	\$70.00	\$39,200.00	430- 175- 115	\$150.00	\$84,000.00	430- 175- 115	\$108.02	\$60,491.20	430- 175- 115	\$42.00	\$23,520.00	430- 175- 115
X	14	36" Culvert, Optional Material	100	LF	\$180.00	\$18,000.00	430- 175- 136	\$200.00	\$20,000.00	430- 175- 136	\$226.68	\$22,668.00	430- 175- 136	\$58.00	\$5,800.00	430- 175- 136

		BASE BID			BDI mai	rine and sitewo	rk	Close Const	ruction Service	s, LLC	Ferreira Cons	struction Compa	ny, Inc.	Loren Jo	ock Trucking, Ir	nc.
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #
X	15	15" Mitered End Section	22	EA	\$1,600.00	\$35,200.00	430- 982- 115	\$2,500.00	\$55,000.00	430- 982- 115	\$1,490.55	\$32,792.10	430- 982- 115	\$1,500.00	\$33,000.00	430- 982- 115
Х	16	36" Mitered End Section	6	EA	\$2,700.00	\$16,200.00	430- 982- 136	\$2,500.00	\$15,000.00	430- 982- 136	\$4,275.75	\$25,654.50	430- 982- 136	\$2,700.00	\$16,200.00	430- 982- 136
Х	17	RIP-RAP (Include rubble, F&I, Ditch Lining)	220	TN	\$200.00	\$44,000.00	530- 3-4	\$120.00	\$26,400.00	530- 3-4	\$145.83	\$32,082.60	530- 3-4	\$120.00	\$26,400.00	530- 3-4
Х	18	Bedding Stone	136	TN	\$200.00	\$27,200.00	530- 74	\$95.00	\$12,920.00	530- 74	\$55.34	\$7,526.24	530- 74	\$101.00	\$13,736.00	530- 74
UTILITIES	1	l		I						1					l	
Х	19	Wet-Well Core	1	LS	\$1,500.00	\$1,500.00	1090- 1	\$17,500.00	\$17,500.00	1090-	\$2,733.91	\$2,733.91	1090-	\$6,900.00	\$6,900.00	1090-
Х	20	4" Gravity Sewer	130	LF	\$41.00	\$5,330.00	1050- 32- 204	\$120.00	\$15,600.00	1050- 32- 204	\$87.17	\$11,332.10	1050- 32- 204	\$52.00	\$6,760.00	1050- 32- 204
Х	21	4" Cleanout	3	EA	\$900.00	\$2,700.00	1090-	\$3,000.00	\$9,000.00	1090-	\$379.63	\$1,138.89	1090-	\$375.00	\$1,125.00	1090-
Х	22	4" USF 7630 W/ Concrete Collar	3	EA	\$1,000.00	\$3,000.00	1090- 3	\$2,500.00	\$7,500.00	1090-	\$593.37	\$1,780.11	1090-	\$400.00	\$1,200.00	1090-
Х	23	2" Commerical Water Service (to Meter)	1	LS	\$5,000.00	\$5,000.00	1090-	\$3,000.00	\$3,000.00	1090-	\$6,241.74	\$6,241.74	1090-	\$4,550.00	\$4,550.00	1090-

		BASE BID			BDI mar	ine and sitewor	'k	Close Const	ruction Service	s, LLC	Ferreira Cons	struction Compa	ny, Inc.	Loren Jo	ock Trucking, Ir	ıc.
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #
X	24	2" Water Service (beyond Meter)	190	LF	\$35.00	\$6,650.00	1090- 5	\$35.00	\$6,650.00	1090- 5	\$38.82	\$7,375.80	1090- 5	\$17.50	\$3,325.00	1090- 5
X	25	1" Residential Water Service Relocation	1	LS	\$3,500.00	\$3,500.00	1090- 6	\$13,000.00	\$13,000.00	1090- 6	\$1,102.93	\$1,102.93	1090-	\$1,800.00	\$1,800.00	1090-
PARK IMF	PROVE	MENTS		I.	l			l								
X	26	6' Fremont Park Bench (Item Number 329-1033), Mounted to Concrete slab	4	EA	\$701.755	\$2,807.02	751- 38-13	\$2,282.93	\$9,131.72	751- 38-13	\$2,557.47	\$10,229.88	751- 38-13	\$2,995.00	\$11,980.00	751- 38-13
X	27	Waste Containers with Push Door Lid (Model TF1015)	2	EA	\$1,344.06	\$2,688.12	999-1	\$802.29	\$1,604.58	999-1	\$1,163.22	\$2,326.44	999-1	\$2,750.00	\$5,500.00	999-1
X	28	Concrete Slabs (Bench/Waste Container)	22	SY	\$185.00	\$4,070.00	999-2	\$76.50	\$1,683.00	999-2	\$87.24	\$1,919.28	999-2	\$57.00	\$1,254.00	999-2
X	29	Trailhead Kiosks (2 sided)	2	EA	\$18,050.00	\$36,100.00	999-3	\$15,593.43	\$31,186.86	999-3	\$2,925.63	\$5,851.26	999-3	\$1,560.00	\$3,120.00	999-3
X	30	Monument Sign	1	EA	\$11,100.00	\$11,100.00	999-4	\$10,609.90	\$10,609.90	999-4	\$11,599.05	\$11,599.05	999-4	\$2,700.00	\$2,700.00	999-4

		BASE BID			BDI mar	rine and sitewor	rk	Close Const	ruction Service	s, LLC	Ferreira Con	struction Compa	ny, Inc.	Loren Jo	ck Trucking, Ir	nc.
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #
Х	31	Wildlife Signs	8	EA	\$1,500.00	\$12,000.00	999-5	\$2,205.13	\$17,641.04	999-5	\$1,261.09	\$10,088.72	999-5	\$275.00	\$2,200.00	999-5
X	32	Wildlife Paw Prints (Public Art on Trail Surface at Wildlife Signs)	80	EA	\$55.00	\$4,400.00	999-6	\$187.50	\$15,000.00	999-6	\$293.74	\$23,499.20	999-6	\$39.00	\$3,120.00	999-6
X	33	PSL Neighborhood Sign	1	EA	\$4,500.00	\$4,500.00	999-7	\$10,609.90	\$10,609.90	999-7	\$11,599.05	\$11,599.05	999-7	\$2,200.00	\$2,200.00	999-7
LANDSCA	PE / IR	RIGATION	1	L	<u>I</u>						1			<u>I</u>	<u> </u>	
X	34	LANDSCAPE MAINTENANCE	1	LS	\$50,000.00	\$50,000.00	1010- 1	\$28,750.00	\$28,750.00	1010- 1	\$29,374.14	\$29,374.14	1010- 1	\$27,500.00	\$27,500.00	1010- 1
X	35	RED MAPLE	8	EA	\$980.00	\$7,840.00	1010-	\$937.25	\$7,498.00	1010-	\$957.60	\$7,660.80	1010-	\$896.50	\$7,172.00	1010-
Х	36	EAST PALATKA HOLLY	27	EA	\$900.00	\$24,300.00	1010- 3	\$862.50	\$23,287.50	1010-	\$881.22	\$23,792.94	1010-	\$825.00	\$22,275.00	1010- 3
X	37	SOUTHERN MAGNOLIA	39	EA	\$1,200.00	\$46,800.00	1010- 4	\$1,132.75	\$44,177.25	1010-	\$1,157.34	\$45,136.26	1010-	\$1,083.50	\$42,256.50	1010-
Х	38	SLASH PINE	26	EA	\$975.00	\$25,350.00	1010- 5	\$920.00	\$23,920.00	1010- 5	\$939.97	\$24,439.22	1010- 5	\$880.00	\$22,880.00	1010- 5
X	39	SOUTHERN LIVE OAK	8	EA	\$1,200.00	\$9,600.00	1010- 6	\$1,150.00	\$9,200.00	1010- 6	\$1,174.97	\$9,399.76	1010- 6	\$1,100.00	\$8,800.00	1010- 6
Х	40	FLORIDA ROYAL PALM	4	EA	\$2,750.00	\$11,000.00	1010- 7	\$2,300.00	\$9,200.00	1010- 7	\$2,584.93	\$10,339.72	1010- 7	\$2,420.00	\$9,680.00	1010- 7

		BASE BID			BDI ma	rine and sitewo	rk	Close Cons	struction Services	s, LLC	Ferreira Cor	struction Compar	ıy, Inc.	Loren Jo	ock Trucking, Ir	nc.
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #
Х	41	SABAL PALM	76	EA	\$340.00	\$25,840.00	1010- 8	\$322.00	\$24,472.00	1010- 8	\$328.99	\$25,003.24	1010- 8	\$308.00	\$23,408.00	1010- 8
Х	42	COCOPLUM	76	EA	\$11.50	\$874.00	1010- 9	\$10.93	\$830.68	1010- 9	\$11.16	\$848.16	1010- 9	\$10.45	\$794.20	1010- 9
Х	43	SAND CORDGRASS	205	EA	\$11.00	\$2,255.00	1010- 10	\$10.35	\$2,121.75	1010- 10	\$10.57	\$2,166.85	1010- 10	\$9.90	\$2,029.50	1010- 10
Х	44	ROOT BARRIER	816	LF	\$50.00	\$40,800.00	1010- 11	\$69.00	\$56,304.00	1010- 11	\$70.50	\$57,528.00	1010- 11	\$66.00	\$53,856.00	1010- 11
Х	45	SOIL	80	CY	\$60.00	\$4,800.00	1010- 12	\$57.50	\$4,600.00	1010- 12	\$58.75	\$4,700.00	1010- 12	\$55.00	\$4,400.00	1010- 12
Х	46	MULCH	3	CY	\$75.00	\$225.00	1010- 13	\$69.00	\$207.00	1010- 13	\$70.50	\$211.50	1010- 13	\$66.00	\$198.00	1010- 13
Total			•			\$1,471,290.14			\$1,629,718.82			\$1,607,231.472			\$978,773.20	

BASE BID (Table 2 of 2)

		BASE BID			Mike	e's Organic To	ppsoil		er Plates And Co Site Services LLC		XGD System	s, LLC dba Eco B	lue Systems
Selected	Line Item	Description	Unit of Measure	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	
GENERAL													
Х	1	Mobilization, Incl. Video Survey Staking & As-Builts Drawings	1	LS	\$0.00	\$0.00	101-99	\$230,000.00	\$230,000.00	101-99	\$61,300.00	\$61,300.00	101-99

		BASE BID			Mike	e's Organic To	ppsoil		er Plates And Co Site Services LLC		XGD System	ns, LLC dba Eco Bl	ue Systems
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #
Х	2	Maintenance of Traffic / Parking / Detours	1	LS	\$0.00	\$0.00	102-1	\$15,000.00	\$15,000.00	102-1	\$6,831.67	\$6,831.67	102-1
Х	3	Turbidity Barrier/ NPDES Compliance (Erosion Control)	1	LS	\$0.00	\$0.00	104	\$5,000.00	\$5,000.00	104	\$7,689.92	\$7,689.92	104
Х	4	Silt Fence (Sediment Barrier)	11580	LF	\$0.00	\$0.00	104-10-3	\$5.00	\$57,900.00	104-10-3	\$3.34	\$38,677.20	104-10-3
X	5	Clearing and Grubbing / Demolition (Trail Length * 50 feet)	6.6	AC	\$0.00	\$0.00	110-1-1	\$3,200.00	\$21,120.00	110-1-1	\$4,209.13	\$27,780.258	110-1-1
Х	6	Regular Excavation	50	CY	\$0.00	\$0.00	120-1	\$190.00	\$9,500.00	120-1	\$27.36	\$1,368.00	120-1
Х	7	Embankment	600	CY	\$0.00	\$0.00	120-6	\$100.00	\$60,000.00	120-6	\$14.18	\$8,508.00	120-6
ROADWAY	ı	1								I		l	
X	8	Performance Turf, Sod (Item 110-1-1 minus Trail Area)	25800	SY	\$0.00	\$0.00	510-1-2	\$3.50	\$90,300.00	510-1-2	\$4.39	\$113,262.00	510-1-2
Х	9	Swale	1020	LF	\$0.00	\$0.00	514-72	\$25.00	\$25,500.00	514-72	\$3.12	\$3,182.40	514-72

		BASE BID			Mike	e's Organic To	ppsoil		er Plates And Co Site Services LLC		XGD System	s, LLC dba Eco B	ue Systems
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #
X	10	Concrete Trail (4" thick) including 12" compacted subgrade	6290	SY	\$0.00	\$0.00	522-1	\$72.00	\$452,880.00	522-1	\$57.76	\$363,310.40	522-1
X	11	Concrete Sidewalk Through Parking (6" thick) includes 12" compacted Subgrade	76	SY	\$0.00	\$0.00	522-2	\$90.00	\$6,840.00	522-2	\$73.42	\$5,579.92	522-2
Х	12	Detectable Warnings (ADA Mats)	252	SF	\$0.00	\$0.00	527-2	\$55.00	\$13,860.00	527-2	\$37.14	\$9,359.28	527-2
DRAINAGE	'	'			'		'		'	'			'
Х	13	15" Culvert, Optional Material	560	LF	\$0.00	\$0.00	430-175- 115	\$82.00	\$45,920.00	430-175- 115	\$40.72	\$22,803.20	430-175- 115
Х	14	36" Culvert, Optional Material	100	LF	\$0.00	\$0.00	430-175- 136	\$210.00	\$21,000.00	430-175- 136	\$123.87	\$12,387.00	430-175- 136
X	15	15" Mitered End Section	22	EA	\$0.00	\$0.00	430-982- 115	\$1,500.00	\$33,000.00	430-982- 115	\$1,023.71	\$22,521.62	430-982- 115
Х	16	36" Mitered End Section	6	EA	\$0.00	\$0.00	430-982- 136	\$3,500.00	\$21,000.00	430-982- 136	\$2,767.86	\$16,607.16	430-982- 136

		BASE BID			Mike	's Organic T	opsoil		er Plates And Co Site Services LLC		XGD System	s, LLC dba Eco B	lue Systems
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #
Х	17	RIP-RAP (Include rubble, F&I, Ditch Lining)	220	TN	\$0.00	\$0.00	530-3-4	\$205.00	\$45,100.00	530-3-4	\$255.28	\$56,161.60	530-3-4
Х	18	Bedding Stone	136	TN	\$0.00	\$0.00	530-74	\$225.00	\$30,600.00	530-74	\$124.24	\$16,896.64	530-74
UTILITIES		1						l		ı			
Х	19	Wet-Well Core	1	LS	\$0.00	\$0.00	1090-1	\$5,000.00	\$5,000.00	1090-1	\$1,087.21	\$1,087.21	1090-1
Х	20	4" Gravity Sewer	130	LF	\$0.00	\$0.00	1050-32- 204	\$60.00	\$7,800.00	1050-32- 204	\$29.20	\$3,796.00	1050-32- 204
Х	21	4" Cleanout	3	EA	\$0.00	\$0.00	1090-2	\$1,500.00	\$4,500.00	1090-2	\$281.80	\$845.40	1090-2
Х	22	4" USF 7630 W/ Concrete Collar	3	EA	\$0.00	\$0.00	1090-3	\$1,250.00	\$3,750.00	1090-3	\$738.81	\$2,216.43	1090-3
Х	23	2" Commerical Water Service (to Meter)	1	LS	\$0.00	\$0.00	1090-4	\$15,000.00	\$15,000.00	1090-4	\$7,484.48	\$7,484.48	1090-4
X	24	2" Water Service (beyond Meter)	190	LF	\$0.00	\$0.00	1090-5	\$42.00	\$7,980.00	1090-5	\$27.13	\$5,154.70	1090-5
X	25	1" Residential Water Service Relocation	1	LS	\$0.00	\$0.00	1090-6	\$12,500.00	\$12,500.00	1090-6	\$3,796.84	\$3,796.84	1090-6
PARK IMPRO	OVEMENTS	1		1						1			

EVALUATION TABULATION

Invitation For Bid (IFB) - Wilderness Trail Construction Project

Page 10

		BASE BID			Mike	e's Organic To	psoil		er Plates And Co Site Services LLC		XGD System	ns, LLC dba Eco Bl	ue Systems
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #
X	26	6' Fremont Park Bench (Item Number 329-1033), Mounted to Concrete slab	4	EA	\$0.00	\$0.00	751-38-13	\$3,000.00	\$12,000.00	751-38-13	\$2,540.81	\$10,163.24	751-38-13
Х	27	Waste Containers with Push Door Lid (Model TF1015)	2	EA	\$0.00	\$0.00	999-1	\$2,000.00	\$4,000.00	999-1	\$853.80	\$1,707.60	999-1
Х	28	Concrete Slabs (Bench/Waste Container)	22	SY	\$0.00	\$0.00	999-2	\$75.00	\$1,650.00	999-2	\$433.64	\$9,540.08	999-2
Х	29	Trailhead Kiosks (2 sided)	2	EA	\$0.00	\$0.00	999-3	\$7,500.00	\$15,000.00	999-3	\$11,944.74	\$23,889.48	999-3
Х	30	Monument Sign	1	EA	\$0.00	\$0.00	999-4	\$15,000.00	\$15,000.00	999-4	\$11,071.31	\$11,071.31	999-4
Х	31	Wildlife Signs	8	EA	\$0.00	\$0.00	999-5	\$2,000.00	\$16,000.00	999-5	\$3,132.63	\$25,061.04	999-5
Х	32	Wildlife Paw Prints (Public Art on Trail Surface at Wildlife Signs)	80	EA	\$0.00	\$0.00	999-6	\$100.00	\$8,000.00	999-6	\$180.00	\$14,400.00	999-6
Х	33	PSL Neighborhood Sign	1	EA	\$0.00	\$0.00	999-7	\$1,750.00	\$1,750.00	999-7	\$12,000.12	\$12,000.12	999-7

		BASE BID			Mik	e's Organic To	psoil		er Plates And Co Site Services LLC		XGD System	ns, LLC dba Eco Bl	ue Systems
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #
LANDSCAPE	/ IRRIGATION						•					•	•
X	34	LANDSCAPE MAINTENANCE	1	LS	\$0.00	\$0.00	1010-1	\$15,000.00	\$15,000.00	1010-1	\$43,464.45	\$43,464.45	1010-1
Х	35	RED MAPLE	8	EA	\$0.00	\$0.00	1010-2	\$815.00	\$6,520.00	1010-2	\$533.41	\$4,267.28	1010-2
X	36	EAST PALATKA HOLLY	27	EA	\$0.00	\$0.00	1010-3	\$750.00	\$20,250.00	1010-3	\$540.01	\$14,580.27	1010-3
Х	37	SOUTHERN MAGNOLIA	39	EA	\$0.00	\$0.00	1010-4	\$985.00	\$38,415.00	1010-4	\$1,182.01	\$46,098.39	1010-4
Х	38	SLASH PINE	26	EA	\$0.00	\$0.00	1010-5	\$800.00	\$20,800.00	1010-5	\$467.40	\$12,152.40	1010-5
X	39	SOUTHERN LIVE OAK	8	EA	\$0.00	\$0.00	1010-6	\$1,000.00	\$8,000.00	1010-6	\$1,127.41	\$9,019.28	1010-6
X	40	FLORIDA ROYAL PALM	4	EA	\$0.00	\$0.00	1010-7	\$2,200.00	\$8,800.00	1010-7	\$467.40	\$1,869.60	1010-7
Х	41	SABAL PALM	76	EA	\$0.00	\$0.00	1010-8	\$280.00	\$21,280.00	1010-8	\$336.00	\$25,536.00	1010-8
Х	42	COCOPLUM	76	EA	\$0.00	\$0.00	1010-9	\$9.50	\$722.00	1010-9	\$11.40	\$866.40	1010-9
X	43	SAND CORDGRASS	205	EA	\$0.00	\$0.00	1010-10	\$9.00	\$1,845.00	1010-10	\$10.80	\$2,214.00	1010-10
Х	44	ROOT BARRIER	816	LF	\$0.00	\$0.00	1010-11	\$30.00	\$24,480.00	1010-11	\$72.00	\$58,752.00	1010-11
Х	45	SOIL	80	CY	\$20.00	\$1,600.00	1010-12	\$50.00	\$4,000.00	1010-12	\$60.00	\$4,800.00	1010-12
Х	46	MULCH	3	CY	\$20.00	\$60.00	1010-13	\$60.00	\$180.00	1010-13	\$72.00	\$216.00	1010-13
Total				<u> </u>		\$1,660.00			\$1,484,742.00			\$1,150,276.268	

ALTERNATE NO. 1 (Table 1 of 2)

		ALTERNATE NO	. 1		BDI ma	rine and sitew	ork	Close Cons	truction Servi	ces, LLC	Ferreira Co	nstruction Co Inc.	mpany,	Loren J	ock Trucking,	lnc.
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #
GENERAL																
X	47	Mobilization, Incl. Video Survey Staking & As-Builts Drawings	1	LS	\$29,000.00	\$29,000.00	101-99	\$10,000.00	\$10,000.00	101-99	\$23,041.95	\$23,041.95	101-99	\$12,075.00	\$12,075.00	101-99
X	48	Maintenance of Traffic / Parking / Detours	1	LS	\$3,000.00	\$3,000.00	102-1	\$1,250.00	\$1,250.00	102-1	\$817.18	\$817.18	102-1	\$960.00	\$960.00	102-1
X	49	NPDES Compliance (Erosion Control)	1	LS	\$5,000.00	\$5,000.00	104	\$1,500.00	\$1,500.00	104	\$1,217.57	\$1,217.57	104	\$190.00	\$190.00	104
X	50	Silt Fence (Sediment Barrier)	2850	LF	\$3.00	\$8,550.00	104- 10-3	\$1.75	\$4,987.50	104- 10-3	\$2.89	\$8,236.50	104- 10-3	\$1.80	\$5,130.00	104- 10-3
X	51	Clearing and Grubbing / Demolition (Trail Length * 50 feet)	1.5	AC	\$7,000.00	\$10,500.00	110-1-	\$12,500.00	\$18,750.00	110-1-	\$9,056.52	\$13,584.78	110-1-	\$2,850.00	\$4,275.00	110-1-
Х	52	Regular Excavation	20	CY	\$50.00	\$1,000.00	120-1	\$80.00	\$1,600.00	120-1	\$34.15	\$683.00	120-1	\$49.00	\$980.00	120-1
Х	53	Embankment	70	CY	\$55.00	\$3,850.00	120-6	\$80.00	\$5,600.00	120-6	\$78.53	\$5,497.10	120-6	\$64.00	\$4,480.00	120-6
ROADWA	Y	I	1	l	I	I	ļ	Ī	I	ļ	I	Γ	1	I		l

		ALTERNATE NO.	1		BDI ma	rine and sitew	ork	Close Cons	truction Servic	es, LLC	Ferreira Co	nstruction Co	mpany,	Loren J	ock Trucking,	Inc.
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #
Х	54	Performance Turf, Sod (Item 110-1-1 minus Trail Area)	6385	SY	\$6.50	\$41,502.50	510-1-	\$3.00	\$19,155.00	510-1-	\$3.30	\$21,070.50	510-1-	\$3.25	\$20,751.25	510-1-
X	55	Concrete Trail (4" thick) including 12" compacted subgrade	1400	SY	\$66.00	\$92,400.00	522-1	\$76.50	\$107,100.00	522-1	\$86.32	\$120,848.00	522-1	\$29.00	\$40,600.00	522-1
LANDSCA	PE / IRRI	GATION		l			ı			ļ			ļ			
Х	56	LANDSCAPE MAINTENANCE	1	LS	\$13,250.00	\$13,250.00	1010-1	\$12,650.00	\$12,650.00	1010-1	\$12,924.63	\$12,924.63	1010-1	\$12,100.00	\$12,100.00	1010-1
Х	57	RED MAPLE	4	EA	\$980.00	\$3,920.00	1010-2	\$937.25	\$3,749.00	1010-2	\$957.60	\$3,830.40	1010-2	\$896.50	\$3,586.00	1010-2
Х	58	EAST PALATKA HOLLY	8	EA	\$900.00	\$7,200.00	1010-3	\$862.50	\$6,900.00	1010-3	\$881.22	\$7,049.76	1010-3	\$825.00	\$6,600.00	1010-3
Х	59	SOUTHERN MAGNOLIA	1	EA	\$1,200.00	\$1,200.00	1010-4	\$1,132.75	\$1,132.75	1010-4	\$1,157.34	\$1,157.34	1010-4	\$1,083.50	\$1,083.50	1010-4
Х	60	SLASH PINE	1	EA	\$1,000.00	\$1,000.00	1010-5	\$920.00	\$920.00	1010-5	\$939.97	\$939.97	1010-5	\$880.00	\$880.00	1010-5
X	61	SOUTHERN LIVE OAK	5	EA	\$1,200.00	\$6,000.00	1010-6	\$1,150.00	\$5,750.00	1010-6	\$1,174.97	\$5,874.85	1010-6	\$1,100.00	\$5,500.00	1010-6
Х	62	FLORIDA ROYAL PALM	1	EA	\$2,650.00	\$2,650.00	1010-7	\$2,300.00	\$2,300.00	1010-7	\$2,584.92	\$2,584.92	1010-7	\$2,420.00	\$2,420.00	1010-7
Х	63	SABAL PALM	10	EA	\$339.00	\$3,390.00	1010-8	\$322.00	\$3,220.00	1010-8	\$328.99	\$3,289.90	1010-8	\$308.00	\$3,080.00	1010-8
Total		'				\$233,412.50			\$206,564.25			\$232,648.35			\$124,690.75	

ALTERNATE NO. 1 (Table 2 of 2)

		ALTERNATE NO. 1			Mike	e's Organic To	ppsoil		er Plates And C lite Services LL		XGD System	s, LLC dba Eco I	Blue Systems
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #
GENERAL													
х	47	Mobilization, Incl. Video Survey Staking & As-Builts Drawings	1	LS	\$0.00	\$0.00	101-99	\$85,000.00	\$85,000.00	101-99	\$8,506.34	\$8,506.34	101-99
X	48	Maintenance of Traffic / Parking / Detours	1	LS	\$0.00	\$0.00	102-1	\$2,500.00	\$2,500.00	102-1	\$0.00	\$0.00	102-1
X	49	NPDES Compliance (Erosion Control)	1	LS	\$0.00	\$0.00	104	\$2,500.00	\$2,500.00	104	\$0.00	\$0.00	104
Х	50	Silt Fence (Sediment Barrier)	2850	LF	\$0.00	\$0.00	104-10-3	\$4.00	\$11,400.00	104-10-3	\$3.34	\$9,519.00	104-10-3
X	51	Clearing and Grubbing / Demolition (Trail Length * 50 feet)	1.5	AC	\$0.00	\$0.00	110-1-1	\$2,500.00	\$3,750.00	110-1-1	\$4,209.13	\$6,313.695	110-1-1
Х	52	Regular Excavation	20	CY	\$0.00	\$0.00	120-1	\$100.00	\$2,000.00	120-1	\$27.36	\$547.20	120-1
Х	53	Embankment	70	CY	\$0.00	\$0.00	120-6	\$40.00	\$2,800.00	120-6	\$14.18	\$992.60	120-6
ROADWAY	1				I			1	1		1		

		ALTERNATE NO. 1	ı		Mike	e's Organic To	opsoil		er Plates And C Site Services LL		XGD System	ns, LLC dba Eco E	Blue Systems
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #
X	54	Performance Turf, Sod (Item 110-1-1 minus Trail Area)	6385	SY	\$0.00	\$0.00	510-1-2	\$3.50	\$22,347.50	510-1-2	\$4.39	\$28,030.15	510-1-2
Х	55	Concrete Trail (4" thick) including 12" compacted subgrade	1400	SY	\$0.00	\$0.00	522-1	\$70.00	\$98,000.00	522-1	\$57.76	\$80,864.00	522-1
LANDSCAPE ,	/ IRRIGATION				I						I		
Х	56	LANDSCAPE MAINTENANCE	1	LS	\$0.00	\$0.00	1010-1	\$5,000.00	\$5,000.00	1010-1	\$7,294.88	\$7,294.88	1010-1
Х	57	RED MAPLE	4	EA	\$0.00	\$0.00	1010-2	\$815.00	\$3,260.00	1010-2	\$533.41	\$2,133.64	1010-2
Х	58	EAST PALATKA HOLLY	8	EA	\$0.00	\$0.00	1010-3	\$750.00	\$6,000.00	1010-3	\$540.01	\$4,320.08	1010-3
Х	59	SOUTHERN MAGNOLIA	1	EA	\$0.00	\$0.00	1010-4	\$985.00	\$985.00	1010-4	\$1,182.01	\$1,182.01	1010-4
Х	60	SLASH PINE	1	EA	\$0.00	\$0.00	1010-5	\$800.00	\$800.00	1010-5	\$467.40	\$467.40	1010-5
Х	61	SOUTHERN LIVE OAK	5	EA	\$0.00	\$0.00	1010-6	\$1,000.00	\$5,000.00	1010-6	\$1,127.41	\$5,637.05	1010-6
Х	62	FLORIDA ROYAL PALM	1	EA	\$0.00	\$0.00	1010-7	\$2,200.00	\$2,200.00	1010-7	\$467.40	\$467.40	1010-7
Х	63	SABAL PALM	10	EA	\$0.00	\$0.00	1010-8	\$280.00	\$2,800.00	1010-8	\$336.00	\$3,360.00	1010-8
Total						\$0.00			\$256,342.50			\$159,635.445	

ALTERNATE NO. 2 (Table 1 of 2)

		ALTERNATE NO	. 2		BDI ma	rine and sitew	ork	Close Cons	truction Servi	ces, LLC	Ferreira Co	nstruction Co Inc.	mpany,	Loren J	ock Trucking,	Inc.
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #
GENERAL																
X	64	Mobilization, Incl. Video Survey Staking & As-Builts Drawings	1	LS	\$40,000.00	\$40,000.00	101-99	\$10,000.00	\$10,000.00	101-99	\$48,358.84	\$48,358.84	101-99	\$14,550.00	\$14,550.00	101-99
Х	65	Maintenance of Traffic / Parking / Detours	1	LS	\$3,000.00	\$3,000.00	102-1	\$1,250.00	\$1,250.00	102-1	\$628.61	\$628.61	102-1	\$1,800.00	\$1,800.00	102-1
Х	66	Turbidity Barrier/ NPDES Compliance (Erosion Control)	1	LS	\$5,000.00	\$5,000.00	104	\$1,500.00	\$1,500.00	104	\$2,288.27	\$2,288.27	104	\$4,160.00	\$4,160.00	104
X	67	Silt Fence (Sediment Barrier)	5640	LF	\$2.75	\$15,510.00	104- 10-3	\$1.75	\$9,870.00	104- 10-3	\$2.89	\$16,299.60	104- 10-3	\$1.80	\$10,152.00	104- 10-3
Х	68	Clearing and Grubbing / Demolition (Trail Length * 50 feet)	3	AC	\$7,500.00	\$22,500.00	110-1-	\$12,500.00	\$37,500.00	110-1-	\$5,963.28	\$17,889.84	110-1-	\$3,720.00	\$11,160.00	110-1-
Х	69	Regular Excavation	112	CY	\$50.00	\$5,600.00	120-1	\$80.00	\$8,960.00	120-1	\$33.21	\$3,719.52	120-1	\$12.00	\$1,344.00	120-1
Х	70	Embankment	125	CY	\$55.00	\$6,875.00	120-6	\$80.00	\$10,000.00	120-6	\$52.28	\$6,535.00	120-6	\$23.90	\$2,987.50	120-6

		ALTERNATE NO	. 2		BDI ma	rine and sitew	ork	Close Cons	truction Servic	es, LLC	Ferreira Co	onstruction Co Inc.	mpany,	Loren J	ock Trucking,	Inc.
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #
ROADWA	1															
X	71	Performance Turf, Sod (Item 110-1-1 minus Trail Area)	11450	SY	\$7.00	\$80,150.00	510-1-	\$3.00	\$34,350.00	510-1-	\$3.30	\$37,785.00	510-1-	\$3.25	\$37,212.50	510-1-
X	72	Concrete Trail (4" thick) including 12" compacted subgrade	2783	SY	\$66.00	\$183,678.00	522-1	\$76.50	\$212,899.50	522-1	\$81.55	\$226,953.65	522-1	\$29.00	\$80,707.00	522-1
DRAINAGE																
Х	73	12" Culvert, Optional Material	30	LF	\$125.00	\$3,750.00	430- 175- 112	\$125.00	\$3,750.00	430- 175- 112	\$84.42	\$2,532.60	430- 175- 112	\$39.00	\$1,170.00	430- 175- 112
X	74	12" Mitered End Section	2	EA	\$2,200.00	\$4,400.00	430- 982- 112	\$2,500.00	\$5,000.00	430- 982- 112	\$1,722.59	\$3,445.18	430- 982- 112	\$790.00	\$1,580.00	430- 982- 112
PARK IMP	ROVEM	ENTS	I	I			1									
X	75	6' Fremont Park Bench (Item Number 329-1033), Mounted to Concrete slab	4	EA	\$952.00	\$3,808.00	751- 38-13	\$2,282.93	\$9,131.72	751- 38-13	\$2,557.47	\$10,229.88	751- 38-13	\$2,995.00	\$11,980.00	751- 38-13

		ALTERNATE NO	. 2		BDI ma	rine and sitew	ork	Close Cons	truction Servic	ces, LLC	Ferreira Co	nstruction Co Inc.	mpany,	Loren J	ock Trucking,	Inc.
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #
X	76	Waste Containers with Push Door Lid (Model TF1015)	2	EA	\$1,700.00	\$3,400.00	999-3	\$802.29	\$1,604.58	999-3	\$1,163.22	\$2,326.44	999-3	\$2,750.00	\$5,500.00	999-3
Х	77	Concrete Slabs (Bench/Waste Container)	68	SY	\$130.00	\$8,840.00	999-4	\$76.50	\$5,202.00	999-4	\$50.01	\$3,400.68	999-4	\$57.00	\$3,876.00	999-4
LANDSCA	PE / IRRI	GATION			'			'		•			,	'		
Х	78	LANDSCAPE MAINTENANCE	1	LS	\$15,000.00	\$15,000.00	1010-1	\$13,800.00	\$13,800.00	1010-1	\$14,099.58	\$14,099.58	1010-1	\$13,200.00	\$13,200.00	1010-1
Х	79	RED MAPLE	7	EA	\$980.00	\$6,860.00	1010-2	\$937.25	\$6,560.75	1010-2	\$957.60	\$6,703.20	1010-2	\$896.50	\$6,275.50	1010-2
Х	80	EAST PALATKA HOLLY	6	EA	\$900.00	\$5,400.00	1010-3	\$862.50	\$5,175.00	1010-3	\$881.22	\$5,287.32	1010-3	\$825.00	\$4,950.00	1010-3
Х	81	SOUTHERN MAGNOLIA	2	EA	\$1,200.00	\$2,400.00	1010-4	\$1,132.75	\$2,265.50	1010-4	\$1,157.34	\$2,314.68	1010-4	\$1,083.50	\$2,167.00	1010-4
Х	82	SLASH PINE	15	EA	\$975.00	\$14,625.00	1010-5	\$920.00	\$13,800.00	1010-5	\$939.97	\$14,099.55	1010-5	\$880.00	\$13,200.00	1010-5
Х	83	SOUTHERN LIVE OAK	2	EA	\$1,200.00	\$2,400.00	1010-6	\$1,150.00	\$2,300.00	1010-6	\$1,174.97	\$2,349.94	1010-6	\$1,100.00	\$2,200.00	1010-6
Х	84	FLORIDA ROYAL PALM	2	EA	\$2,650.00	\$5,300.00	1010-7	\$2,300.00	\$4,600.00	1010-7	\$2,584.93	\$5,169.86	1010-7	\$2,420.00	\$4,840.00	1010-7
Х	85	SABAL PALM	5	EA	\$350.00	\$1,750.00	1010-8	\$322.00	\$1,610.00	1010-8	\$328.99	\$1,644.95	1010-8	\$308.00	\$1,540.00	1010-8

		ALTERNATE NO	. 2		BDI ma	rine and sitew	ork	Close Cons	truction Servic	es, LLC	Ferreira Co	nstruction Col	mpany,	Loren J	ock Trucking, I	nc.
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item#
X	86	ROOT BARRIER	39	LF	\$50.00	\$1,950.00	1010- 13	\$69.00	\$2,691.00	1010- 13	\$70.50	\$2,749.50	1010- 13	\$66.00	\$2,574.00	1010- 13
Total						\$442,196.00			\$403,820.05			\$436,811.69			\$239,125.50	

ALTERNATE NO. 2 (Table 2 of 2)

		ALTERNATE NO. 2	2		Mike	e's Organic To	psoil		er Plates And C lite Services LL		XGD Systems	, LLC dba Eco I	Blue Systems
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #
GENERAL								•					
Х	64	Mobilization, Incl. Video Survey Staking & As-Builts Drawings	1	LS	\$0.00	\$0.00	101-99	\$115,000.00	\$115,000.00	101-99	\$18,348.75	\$18,348.75	101-99
X	65	Maintenance of Traffic / Parking / Detours	1	LS	\$0.00	\$0.00	102-1	\$2,500.00	\$2,500.00	102-1	\$0.00	\$0.00	102-1
Х	66	Turbidity Barrier/ NPDES Compliance (Erosion Control)	1	LS	\$0.00	\$0.00	104	\$2,500.00	\$2,500.00	104	\$0.00	\$0.00	104
Х	67	Silt Fence (Sediment Barrier)	5640	LF	\$0.00	\$0.00	104-10-3	\$4.00	\$22,560.00	104-10-3	\$3.34	\$18,837.60	104-10-3

		ALTERNATE NO. 2			Mike	e's Organic To	opsoil		er Plates And C Site Services LL		XGD System	s, LLC dba Eco I	Blue Systems
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #
Х	68	Clearing and Grubbing / Demolition (Trail Length * 50 feet)	3	AC	\$0.00	\$0.00	110-1-1	\$2,500.00	\$7,500.00	110-1-1	\$4,209.14	\$12,627.42	110-1-1
Х	69	Regular Excavation	112	CY	\$0.00	\$0.00	120-1	\$100.00	\$11,200.00	120-1	\$27.36	\$3,064.32	120-1
Х	70	Embankment	125	CY	\$0.00	\$0.00	120-6	\$40.00	\$5,000.00	120-6	\$14.18	\$1,772.50	120-6
ROADWAY	L				1					l.	I		
Х	71	Performance Turf, Sod (Item 110-1-1 minus Trail Area)	11450	SY	\$0.00	\$0.00	510-1-2	\$4.50	\$51,525.00	510-1-2	\$4.39	\$50,265.50	510-1-2
Х	72	Concrete Trail (4" thick) including 12" compacted subgrade	2783	SY	\$0.00	\$0.00	522-1	\$80.00	\$222,640.00	522-1	\$57.76	\$160,746.08	522-1
DRAINAGE	I				1				1		1	1	
Х	73	12" Culvert, Optional Material	30	LF	\$0.00	\$0.00	430-175- 112	\$49.00	\$1,470.00	430-175- 112	\$29.75	\$892.50	430-175- 112
Х	74	12" Mitered End Section	2	EA	\$0.00	\$0.00	430-982- 112	\$926.00	\$1,852.00	430-982- 112	\$360.00	\$720.00	430-982- 112
PARK IMPRO	VEMENTS									<u> </u>	<u> </u>		

		ALTERNATE NO. 2	!		Mike	e's Organic To	ppsoil		er Plates And C Site Services LL		XGD Systems	s, LLC dba Eco I	Blue Systems
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #
X	75	6' Fremont Park Bench (Item Number 329-1033), Mounted to Concrete slab	4	EA	\$0.00	\$0.00	751-38-13	\$3,000.00	\$12,000.00	751-38-13	\$2,540.81	\$10,163.24	751-38-13
Х	76	Waste Containers with Push Door Lid (Model TF1015)	2	EA	\$0.00	\$0.00	999-3	\$3,000.00	\$6,000.00	999-3	\$853.80	\$1,707.60	999-3
Х	77	Concrete Slabs (Bench/Waste Container)	68	SY	\$0.00	\$0.00	999-4	\$75.00	\$5,100.00	999-4	\$433.64	\$29,487.52	999-4
LANDSCAPE /	/ IRRIGATION	'						I	I				
Х	78	LANDSCAPE MAINTENANCE	1	LS	\$0.00	\$0.00	1010-1	\$5,000.00	\$5,000.00	1010-1	\$11,671.32	\$11,671.32	1010-1
Х	79	RED MAPLE	7	EA	\$0.00	\$0.00	1010-2	\$815.00	\$5,705.00	1010-2	\$533.41	\$3,733.87	1010-2
Х	80	EAST PALATKA HOLLY	6	EA	\$0.00	\$0.00	1010-3	\$750.00	\$4,500.00	1010-3	\$540.01	\$3,240.06	1010-3
Х	81	SOUTHERN MAGNOLIA	2	EA	\$0.00	\$0.00	1010-4	\$985.00	\$1,970.00	1010-4	\$1,182.01	\$2,364.02	1010-4
Х	82	SLASH PINE	15	EA	\$0.00	\$0.00	1010-5	\$800.00	\$12,000.00	1010-5	\$467.40	\$7,011.00	1010-5
Х	83	SOUTHERN LIVE OAK	2	EA	\$0.00	\$0.00	1010-6	\$1,000.00	\$2,000.00	1010-6	\$1,127.41	\$2,254.82	1010-6

		ALTERNATE NO. 2	!		Mike	e's Organic To	psoil		er Plates And C ite Services LL		XGD Systems	s, LLC dba Eco I	Blue Systems
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #
Х	84	FLORIDA ROYAL PALM	2	EA	\$0.00	\$0.00	1010-7	\$2,200.00	\$4,400.00	1010-7	\$467.40	\$934.80	1010-7
Х	85	SABAL PALM	5	EA	\$0.00	\$0.00	1010-8	\$280.00	\$1,400.00	1010-8	\$336.00	\$1,680.00	1010-8
Х	86	ROOT BARRIER	39	LF	\$0.00	\$0.00	1010-13	\$60.00	\$2,340.00	1010-13	\$72.00	\$2,808.00	1010-13
Total						\$0.00			\$506,162.00			\$344,330.92	

ALTERNATE NO. 3 (Table 1 of 2)

		ALTERNATE NO	0. 3		BDI mar	ine and sitewo	ork	Close Const	ruction Service	es, LLC	Ferreira Cor	nstruction Com Inc.	npany,	Loren Jo	ock Trucking, Ir	ıc.
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #
GENERAL																
Х	87	Mobilization, Incl. Video Survey Staking & As-Builts Drawings	1	LS	\$45,000.00	\$45,000.00	101- 99	\$38,000.00	\$38,000.00	101- 99	\$56,490.84	\$56,490.84	101- 99	\$14,000.00	\$14,000.00	101- 99
X	88	Maintenance of Traffic / Parking / Detours	1	LS	\$5,000.00	\$5,000.00	102-1	\$1,250.00	\$1,250.00	102-1	\$923.42	\$923.42	102-1	\$1,800.00	\$1,800.00	102-1
Х	89	Turbidity Barrier/ NPDES Compliance (Erosion Control)	1	LS	\$5,000.00	\$5,000.00	104	\$1,500.00	\$1,500.00	104	\$2,288.27	\$2,288.27	104	\$1,500.00	\$1,500.00	104

		ALTERNATE NO	. 3		BDI mar	ine and sitewo	ork	Close Const	ruction Service	es, LLC	Ferreira Cor	nstruction Con Inc.	npany,	Loren Jo	ock Trucking, Ir	nc.
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #
X	90	Silt Fence (Sediment Barrier)	375	LF	\$3.00	\$1,125.00	104- 10-3	\$1.75	\$656.25	104- 10-3	\$3.38	\$1,267.50	104- 10-3	\$1.80	\$675.00	104- 10-3
Х	91	Clearing and Grubbing / Demolition (Trail Length * 50 feet)	0.2	AC	\$10,000.00	\$2,000.00	110- 1-1	\$12,500.00	\$2,500.00	110- 1-1	\$44,040.35	\$8,808.07	110- 1-1	\$4,000.00	\$800.00	110- 1-1
Х	92	Regular Excavation	5	CY	\$500.00	\$2,500.00	120-1	\$80.00	\$400.00	120-1	\$61.46	\$307.30	120-1	\$120.00	\$600.00	120-1
Х	93	Embankment	100	CY	\$65.00	\$6,500.00	120-6	\$80.00	\$8,000.00	120-6	\$67.64	\$6,764.00	120-6	\$23.90	\$2,390.00	120-6
ROADWA	Y		l										1			
X	94	Performance Turf, Sod (Item 110-1-1 minus Trail Area)	940	SY	\$8.00	\$7,520.00	510- 1-2	\$3.00	\$2,820.00	510- 1-2	\$3.30	\$3,102.00	510- 1-2	\$3.25	\$3,055.00	510- 1-2
Х	95	Concrete Trail (4" thick) including 12" compacted subgrade	165	SY	\$66.00	\$10,890.00	522-1	\$76.50	\$12,622.50	522-1	\$84.57	\$13,954.05	522-1	\$38.00	\$6,270.00	522-1
PARK IMP	ROVEN	MENTS	II.	1		I			I		I	I		l	I	
Х	96	Pavillion (Restrooms, Drinking Fountains, etc.)	1	LS	\$265,000.00	\$265,000.00	999-5	\$425,229.35	\$425,229.35	999-5	\$446,516.24	\$446,516.24	999-5	\$348,000.00	\$348,000.00	999-5

		ALTERNATE NO	. 3		BDI mar	ine and sitewo	ork	Close Const	ruction Service	es, LLC	Ferreira Cor	nstruction Com Inc.	npany,	Loren Jo	ock Trucking, II	nc.
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #
X	97	Pavilion Electric Service (Exterior to Bathroom Pavilion)	1	LS	\$50,000.00	\$50,000.00	999-6	\$20,000.00	\$20,000.00	999-6	\$14,099.58	\$14,099.58	999-6	\$12,000.00	\$12,000.00	999-6
Х	98	Highland Products Grouop Hex Picnic (Item #133-1034) Fastened to Concrete Slab	2	EA	\$2,970.00	\$5,940.00	999-1	\$1,523.75	\$3,047.50	999-1	\$2,398.18	\$4,796.36	999-1	\$1,490.00	\$2,980.00	999-1
Х	99	Highland Products Grouop Hex ADA Picnic (Item #133- 1050) Fastened to Concrete Slab	2	EA	\$2,950.00	\$5,900.00	999-2	\$1,523.75	\$3,047.50	999-2	\$5,372.24	\$10,744.48	999-2	\$1,490.00	\$2,980.00	999-2
Х	100	Waste Containers (Model TF1015)	3	EA	\$2,005.00	\$6,015.00	999-3	\$802.29	\$2,406.87	999-3	\$3,965.41	\$11,896.23	999-3	\$1,025.00	\$3,075.00	999-3
LANDSCA	PE / IR	RIGATION														
Х	101	LANDSCAPE MAINTENANCE	1	LS	\$6,500.00	\$6,500.00	1010-	\$5,750.00	\$5,750.00	1010-	\$5,874.83	\$5,874.83	1010-	\$5,500.00	\$5,500.00	1010-
Х	102	FLORIDA ROYAL PALM	3	EA	\$2,650.00	\$7,950.00	1010- 7	\$2,300.00	\$6,900.00	1010- 7	\$2,584.92	\$7,754.76	1010- 7	\$2,420.00	\$7,260.00	1010- 7

		ALTERNATE NO	D. 3		BDI mar	ine and sitewo	ork	Close Const	ruction Service	es, LLC	Ferreira Coi	nstruction Com Inc.	ipany,	Loren Jo	ock Trucking, Ir	ıc.
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #
Total	tal					\$432,840.00			\$534,129.97			\$595,587.93			\$412,885.00	

ALTERNATE NO. 3 (Table 2 of 2)

		ALTERNATE NO. 3	3		Mik	e's Organic To	psoil		er Plates And (iite Services LL		XGD Systems	s, LLC dba Eco	Blue Systems
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #
GENERAL													
Х	87	Mobilization, Incl. Video Survey Staking & As-Builts Drawings	1	LS	\$0.00	\$0.00	101-99	\$65,000.00	\$65,000.00	101-99	\$7,500.00	\$7,500.00	101-99
X	88	Maintenance of Traffic / Parking / Detours	1	LS	\$0.00	\$0.00	102-1	\$2,500.00	\$2,500.00	102-1	\$0.00	\$0.00	102-1
Х	89	Turbidity Barrier/ NPDES Compliance (Erosion Control)	1	LS	\$0.00	\$0.00	104	\$2,500.00	\$2,500.00	104	\$0.00	\$0.00	104
Х	90	Silt Fence (Sediment Barrier)	375	LF	\$0.00	\$0.00	104-10-3	\$4.00	\$1,500.00	104-10-3	\$3.34	\$1,252.50	104-10-3

		ALTERNATE NO. 3			Mike	e's Organic To	ppsoil		er Plates And C lite Services LL		XGD Systems	s, LLC dba Eco I	Blue Systems
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #
X	91	Clearing and Grubbing / Demolition (Trail Length * 50 feet)	0.2	AC	\$0.00	\$0.00	110-1-1	\$2,500.00	\$500.00	110-1-1	\$4,209.10	\$841.82	110-1-1
X	92	Regular Excavation	5	CY	\$0.00	\$0.00	120-1	\$100.00	\$500.00	120-1	\$27.36	\$136.80	120-1
Х	93	Embankment	100	CY	\$0.00	\$0.00	120-6	\$40.00	\$4,000.00	120-6	\$14.18	\$1,418.00	120-6
ROADWAY		1					ı						
Х	94	Performance Turf, Sod (Item 110-1-1 minus Trail Area)	940	SY	\$0.00	\$0.00	510-1-2	\$4.50	\$4,230.00	510-1-2	\$4.39	\$4,126.60	510-1-2
Х	95	Concrete Trail (4" thick) including 12" compacted subgrade	165	SY	\$0.00	\$0.00	522-1	\$64.00	\$10,560.00	522-1	\$57.76	\$9,530.40	522-1
PARK IMPRO	VEMENTS	' I					I	ı			1	l	
X	96	Pavillion (Restrooms, Drinking Fountains, etc.)	1	LS	\$0.00	\$0.00	999-5	\$375,000.00	\$375,000.00	999-5	\$410,292.00	\$410,292.00	999-5

		ALTERNATE NO. 3	i		Mike	e's Organic To	ppsoil		er Plates And (iite Services LL		XGD Systems	s, LLC dba Eco	Blue Systems
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #
Х	97	Pavilion Electric Service (Exterior to Bathroom Pavilion)	1	LS	\$0.00	\$0.00	999-6	\$50,000.00	\$50,000.00	999-6	\$5,580.06	\$5,580.06	999-6
Х	98	Highland Products Grouop Hex Picnic (Item #133-1034) Fastened to Concrete Slab	2	EA	\$0.00	\$0.00	999-1	\$7,500.00	\$15,000.00	999-1	\$1,966.22	\$3,932.44	999-1
Х	99	Highland Products Grouop Hex ADA Picnic (Item #133- 1050) Fastened to Concrete Slab	2	EA	\$0.00	\$0.00	999-2	\$7,500.00	\$15,000.00	999-2	\$1,966.22	\$3,932.44	999-2
X	100	Waste Containers (Model TF1015)	3	EA	\$0.00	\$0.00	999-3	\$2,000.00	\$6,000.00	999-3	\$853.80	\$2,561.40	999-3
LANDSCAPE ,	/ IRRIGATION									L	1	1	
Х	101	LANDSCAPE MAINTENANCE	1	LS	\$0.00	\$0.00	1010-1	\$2,500.00	\$2,500.00	1010-1	\$938.41	\$938.41	1010-1
X	102	FLORIDA ROYAL PALM	3	EA	\$0.00	\$0.00	1010-7	\$2,200.00	\$6,600.00	1010-7	\$467.40	\$1,402.20	1010-7

		ALTERNATE NO. :	3		Mik	e's Organic To	psoil		er Plates And C lite Services LL		XGD Systems	s, LLC dba Eco I	Blue Systems
Selected	lected Line Item Description Quantity Unit					Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #
Total						\$0.00			\$561,390.00			\$453,445.07	

ALTERNATE NO. 4 (Table 1 of 2)

		ALTERNATE NO	. 4		BDI ma	rine and sitew	ork	Close Cons	truction Servic	es, LLC	Ferreira Co	onstruction Cor Inc.	mpany,	Loren J	ock Trucking, I	Inc.
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #
GENERAL																
X	103	Mobilization, Incl. Video Survey Staking & As-Builts Drawings	1	LS	\$30,000.00	\$30,000.00	101- 99	\$10,000.00	\$10,000.00	101- 99	\$89,637.08	\$89,637.08	101- 99	\$11,700.00	\$11,700.00	101- 99
X	104	Maintenance of Traffic / Parking / Detours	1	LS	\$5,000.00	\$5,000.00	102-1	\$1,250.00	\$1,250.00	102-1	\$923.42	\$923.42	102-1	\$1,800.00	\$1,800.00	102-1
Х	105	Turbidity Barrier/ NPDES Compliance (Erosion Control)	1	LS	\$5,000.00	\$5,000.00	104	\$1,500.00	\$1,500.00	104	\$3,746.46	\$3,746.46	104	\$250.00	\$250.00	104
X	106	Silt Fence (Sediment Barrier)	2980	LF	\$3.00	\$8,940.00	104- 10-3	\$1.75	\$5,215.00	104- 10-3	\$2.90	\$8,642.00	104- 10-3	\$1.80	\$5,364.00	104- 10-3

		ALTERNATE NO	. 4		BDI ma	rine and sitew	ork	Close Cons	truction Servic	es, LLC	Ferreira Co	onstruction Cor Inc.	npany,	Loren J	ock Trucking,	Inc.
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #
Х	107	Clearing and Grubbing / Demolition (Trail Length * 50 feet)	1.6	AC	\$7,000.00	\$11,200.00	110-1-	\$12,500.00	\$20,000.00	110-1-	\$24,153.81	\$38,646.096	110-1-	\$3,720.00	\$5,952.00	110-1-
Х	108	Regular Excavation	50	CY	\$55.00	\$2,750.00	120-1	\$80.00	\$4,000.00	120-1	\$61.03	\$3,051.50	120-1	\$12.00	\$600.00	120-1
Х	109	Embankment	35	CY	\$55.00	\$1,925.00	120-6	\$80.00	\$2,800.00	120-6	\$113.88	\$3,985.80	120-6	\$48.00	\$1,680.00	120-6
ROADWA	Y		l .							1						
X	110	Performance Turf, Sod (Item 110-1-1 minus Trail Area)	6041	SY	\$7.50	\$45,307.50	510-1-	\$3.00	\$18,123.00	510-1-	\$3.30	\$19,935.30	510-1-	\$3.25	\$19,633.25	510-1-
X	111	Concrete Trail (4" thick) including 12" compacted subgrade	1470	SY	\$66.00	\$97,020.00	522-1	\$76.50	\$112,455.00	522-1	\$82.39	\$121,113.30	522-1	\$29.00	\$42,630.00	522-1
PARK IMP	ROVEM	ENTS	'			l			'	,					'	
X	112	6' Fremont Park Bench (Item Number 329-1033), Mounted to Concrete slab	4	EA	\$952.00	\$3,808.00	751- 38-13	\$2,282.93	\$9,131.72	751- 38-13	\$3,106.68	\$12,426.72	751- 38-13	\$2,995.00	\$11,980.00	751- 38-13

		ALTERNATE NO	. 4		BDI ma	rine and sitew	ork	Close Cons	truction Servic	es, LLC	Ferreira Co	onstruction Con Inc.	npany,	Loren J	ock Trucking, I	nc.
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item#
X	113	Waste Containers with Push Door Lid (Model TF1015)	2	EA	\$1,700.00	\$3,400.00	999-3	\$802.29	\$1,604.58	999-3	\$1,775.68	\$3,551.36	999-3	\$2,750.00	\$5,500.00	999-3
Х	114	Concrete Slabs (Bench/Waste Container)	68	SY	\$200.00	\$13,600.00	999-4	\$76.50	\$5,202.00	999-4	\$76.67	\$5,213.56	999-4	\$57.00	\$3,876.00	999-4
LANDSCA	PE / IRR	IGATION	I		l	l	П	l					I			
Х	115	LANDSCAPE MAINTENANCE	1	LS	\$8,500.00	\$8,500.00	1010- 1	\$7,475.00	\$7,475.00	1010- 1	\$7,637.28	\$7,637.28	1010- 1	\$7,150.00	\$7,150.00	1010- 1
Х	116	RED MAPLE	3	EA	\$1,000.00	\$3,000.00	1010-	\$937.25	\$2,811.75	1010-	\$957.60	\$2,872.80	1010-	\$896.50	\$2,689.50	1010-
Х	117	EAST PALATKA HOLLY	2	EA	\$925.00	\$1,850.00	1010- 3	\$862.50	\$1,725.00	1010- 3	\$881.23	\$1,762.46	1010- 3	\$825.00	\$1,650.00	1010- 3
Х	118	SLASH PINE	3	EA	\$975.00	\$2,925.00	1010- 5	\$920.00	\$2,760.00	1010- 5	\$939.97	\$2,819.91	1010- 5	\$880.00	\$2,640.00	1010- 5
Х	119	SOUTHERN LIVE OAK	2	EA	\$1,200.00	\$2,400.00	1010- 6	\$1,150.00	\$2,300.00	1010- 6	\$1,174.97	\$2,349.94	1010- 6	\$1,100.00	\$2,200.00	1010- 6
Х	120	FLORIDA ROYAL PALM	3	EA	\$2,650.00	\$7,950.00	1010- 7	\$2,300.00	\$6,900.00	1010- 7	\$2,584.92	\$7,754.76	1010- 7	\$2,420.00	\$7,260.00	1010- 7
X	121	ROOT BARRIER	100	LF	\$50.00	\$5,000.00	1010- 13	\$69.00	\$6,900.00	1010- 13	\$70.50	\$7,050.00	1010- 13	\$66.00	\$6,600.00	1010- 13
Total						\$259,575.50			\$222,153.05			\$343,119.746			\$141,154.75	

ALTERNATE NO. 4 (Table 2 of 2)

		ALTERNATE NO. 4	ļ.		Mike	e's Organic To	opsoil		er Plates And C Site Services LL		XGD System	s, LLC dba Eco I	Blue Systems
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #
GENERAL													
Х	103	Mobilization, Incl. Video Survey Staking & As-Builts Drawings	1	LS	\$0.00	\$0.00	101-99	\$95,000.00	\$95,000.00	101-99	\$10,791.29	\$10,791.29	101-99
X	104	Maintenance of Traffic / Parking / Detours	1	LS	\$0.00	\$0.00	102-1	\$2,500.00	\$2,500.00	102-1	\$0.00	\$0.00	102-1
Х	105	Turbidity Barrier/ NPDES Compliance (Erosion Control)	1	LS	\$0.00	\$0.00	104	\$2,500.00	\$2,500.00	104	\$0.00	\$0.00	104
Х	106	Silt Fence (Sediment Barrier)	2980	LF	\$0.00	\$0.00	104-10-3	\$4.00	\$11,920.00	104-10-3	\$3.34	\$9,953.20	104-10-3
X	107	Clearing and Grubbing / Demolition (Trail Length * 50 feet)	1.6	AC	\$0.00	\$0.00	110-1-1	\$2,500.00	\$4,000.00	110-1-1	\$4,209.13	\$6,734.608	110-1-1
X	108	Regular Excavation	50	CY	\$0.00	\$0.00	120-1	\$100.00	\$5,000.00	120-1	\$27.36	\$1,368.00	120-1
Х	109	Embankment	35	CY	\$0.00	\$0.00	120-6	\$40.00	\$1,400.00	120-6	\$14.18	\$496.30	120-6

		ALTERNATE NO. 4	ı		Mike	e's Organic To	ppsoil		er Plates And C Site Services LL		XGD System	s, LLC dba Eco E	Blue Systems
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #
ROADWAY													
X	110	Performance Turf, Sod (Item 110-1-1 minus Trail Area)	6041	SY	\$0.00	\$0.00	510-1-2	\$4.50	\$27,184.50	510-1-2	\$4.39	\$26,519.99	510-1-2
Х	111	Concrete Trail (4" thick) including 12" compacted subgrade	1470	SY	\$0.00	\$0.00	522-1	\$64.00	\$94,080.00	522-1	\$57.76	\$84,907.20	522-1
PARK IMPRO	VEMENTS			I	l		1	I	1	I	I		I
Х	112	6' Fremont Park Bench (Item Number 329-1033), Mounted to Concrete slab	4	EA	\$0.00	\$0.00	751-38-13	\$3,000.00	\$12,000.00	751-38-13	\$2,540.81	\$10,163.24	751-38-13
Х	113	Waste Containers with Push Door Lid (Model TF1015)	2	EA	\$0.00	\$0.00	999-3	\$2,000.00	\$4,000.00	999-3	\$853.80	\$1,707.60	999-3
Х	114	Concrete Slabs (Bench/Waste Container)	68	SY	\$0.00	\$0.00	999-4	\$75.00	\$5,100.00	999-4	\$433.64	\$29,487.52	999-4
LANDSCAPE ,	/ IRRIGATION												

		ALTERNATE NO. 4	i.		Mike	e's Organic To	psoil		er Plates And C Site Services LL		XGD System	s, LLC dba Eco B	lue Systems
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #
X	115	LANDSCAPE MAINTENANCE	1	LS	\$0.00	\$0.00	1010-1	\$4,000.00	\$4,000.00	1010-1	\$5,436.06	\$5,436.06	1010-1
Х	116	RED MAPLE	3	EA	\$0.00	\$0.00	1010-2	\$815.00	\$2,445.00	1010-2	\$533.41	\$1,600.23	1010-2
Х	117	EAST PALATKA HOLLY	2	EA	\$0.00	\$0.00	1010-3	\$750.00	\$1,500.00	1010-3	\$540.01	\$1,080.02	1010-3
Х	118	SLASH PINE	3	EA	\$0.00	\$0.00	1010-5	\$800.00	\$2,400.00	1010-5	\$467.40	\$1,402.20	1010-5
Х	119	SOUTHERN LIVE OAK	2	EA	\$0.00	\$0.00	1010-6	\$1,000.00	\$2,000.00	1010-6	\$1,127.41	\$2,254.82	1010-6
Х	120	FLORIDA ROYAL PALM	3	EA	\$0.00	\$0.00	1010-7	\$2,200.00	\$6,600.00	1010-7	\$467.40	\$1,402.20	1010-7
Х	121	ROOT BARRIER	100	LF	\$0.00	\$0.00	1010-13	\$60.00	\$6,000.00	1010-13	\$72.00	\$7,200.00	1010-13
Total	1	'				\$0.00			\$289,629.50			\$202,504.478	

ALTERNATE NO. 5 (Table 1 of 2)

		ALTERNATE NO.	. 5		BDI ma	rine and sitew	ork	Close Cons	truction Servi	ces, LLC	Ferreira Co	nstruction Co Inc.	mpany,	Loren J	ock Trucking,	Inc.
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #
GENERAL																
Х	122	Mobilization, Incl. Video Survey Staking & As-Builts Drawings	1	LS	\$30,000.00	\$30,000.00	101-99	\$15,000.00	\$15,000.00	101-99	\$31,433.23	\$31,433.23	101-99	\$12,075.00	\$12,075.00	101-99

		ALTERNATE NO.	.5		BDI ma	rine and sitew	ork	Close Cons	truction Servi	ces, LLC	Ferreira Co	nstruction Co Inc.	mpany,	Loren J	ock Trucking,	Inc.
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #
Х	123	Maintenance of Traffic / Parking / Detours	1	LS	\$10,000.00	\$10,000.00	102-1	\$2,500.00	\$2,500.00	102-1	\$923.42	\$923.42	102-1	\$1,800.00	\$1,800.00	102-1
X	124	Turbidity Barrier/ NPDES Compliance (Erosion Control)	1	LS	\$5,000.00	\$5,000.00	104	\$1,500.00	\$1,500.00	104	\$867.60	\$867.60	104	\$4,160.00	\$4,160.00	104
X	125	Silt Fence (Sediment Barrier)	600	LF	\$4.50	\$2,700.00	104- 10-3	\$1.75	\$1,050.00	104- 10-3	\$3.97	\$2,382.00	104- 10-3	\$1.80	\$1,080.00	104- 10-3
X	126	Clearing and Grubbing / Demolition	0.2	AC	\$50,000.00	\$10,000.00	110-1- 1	\$12,500.00	\$2,500.00	110-1-	\$76,277.60	\$15,255.52	110-1- 1	\$3,720.00	\$744.00	110-1-
X	127	Regular Excavation	60	CY	\$70.00	\$4,200.00	120-1	\$80.00	\$4,800.00	120-1	\$17.59	\$1,055.40	120-1	\$20.00	\$1,200.00	120-1
Х	128	Embankment	85	CY	\$55.00	\$4,675.00	120-6	\$80.00	\$6,800.00	120-6	\$65.73	\$5,587.05	120-6	\$30.00	\$2,550.00	120-6
ROADWA	Y															
X	129	Type B Stabilized Subgrade	700	SY	\$6.00	\$4,200.00	160-4	\$12.50	\$8,750.00	160-4	\$8.76	\$6,132.00	160-4	\$8.00	\$5,600.00	160-4
Х	130	Optional Base Group	700	SY	\$20.00	\$14,000.00	200-6	\$28.00	\$19,600.00	200-6	\$12.04	\$8,428.00	200-6	\$9.55	\$6,685.00	200-6
Х	131	Asphalt 2" SP 12.5 Traffic C	33	TN	\$725.00	\$23,925.00	334-1- 14	\$950.00	\$31,350.00	334-1- 14	\$632.06	\$20,857.98	334-1- 14	\$195.00	\$6,435.00	334-1- 14

		ALTERNATE NO.	. 5		BDI ma	rine and sitew	ork	Close Cons	truction Servi	ces, LLC	Ferreira Co	onstruction Co Inc.	mpany,	Loren J	ock Trucking,	Inc.
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #
X	132	Performance Turf, Sod (10 Feet @ Parking)	550	SY	\$8.00	\$4,400.00	510-1-	\$3.00	\$1,650.00	510-1-	\$3.30	\$1,815.00	510-1-	\$3.25	\$1,787.50	510-1-
Х	133	Single Post Sign, Furnish & Install, up to 12 Square Feet (SF)	8	EA	\$620.00	\$4,960.00	700-1- 11	\$525.00	\$4,200.00	700-1- 11	\$746.10	\$5,968.80	700-1- 11	\$245.00	\$1,960.00	700-1- 11
Х	134	Thermoplastic Solid 6"	1600	LF	\$3.00	\$4,800.00	701- 17101	\$2.75	\$4,400.00	701- 17101	\$2.35	\$3,760.00	701- 17101	\$1.25	\$2,000.00	701- 17101
X	135	Handicap Parking Symbols	1	LS	\$1,776.00	\$1,776.00	700- 001	\$1,500.00	\$1,500.00	700- 001	\$2,349.93	\$2,349.93	700- 001	\$250.00	\$250.00	700- 001
LANDSCA	PE / IRR	IGATION				l				.1					1	ı
Х	136	LANDSCAPE MAINTENANCE	1	LS	\$6,000.00	\$6,000.00	1010-1	\$4,025.00	\$4,025.00	1010-1	\$4,112.38	\$4,112.38	1010-1	\$3,850.00	\$3,850.00	1010-1
Х	137	EAST PALATKA HOLLY (P)	8	EA	\$910.00	\$7,280.00	1010-3	\$862.50	\$6,900.00	1010-3	\$881.22	\$7,049.76	1010-3	\$825.00	\$6,600.00	1010-3
X	138	GOLDEN CREEPER	846	EA	\$7.30	\$6,175.80	1010- 12	\$9.55	\$8,079.30	1010- 12	\$7.05	\$5,964.30	1010- 12	\$6.60	\$5,583.60	1010- 12
X	139	ROOT BARRIER	225	LF	\$50.00	\$11,250.00	1010- 13	\$69.00	\$15,525.00	1010- 13	\$70.50	\$15,862.50	1010- 13	\$66.00	\$14,850.00	1010- 13
Х	140	SOIL	40	CY	\$65.00	\$2,600.00	1010- 14	\$57.50	\$2,300.00	1010- 14	\$58.75	\$2,350.00	1010- 14	\$55.00	\$2,200.00	1010- 14

		ALTERNATE NO	. 5		BDI ma	rine and sitew	ork	Close Cons	truction Servi	ces, LLC	Ferreira Co	onstruction Co Inc.	mpany,	Loren J	ock Trucking,	Inc.
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item#
X	141	MULCH	20	CY	\$75.00	\$1,500.00	1010- 15	\$69.00	\$1,380.00	1010- 15	\$70.50	\$1,410.00	1010- 15	\$66.00	\$1,320.00	1010- 15
Total	otal					\$159,441.80			\$143,809.30			\$143,564.87			\$82,730.10	

ALTERNATE NO. 5 (Table 2 of 2)

		ALTERNATE NO. 5	;		Mik	e's Organic To	opsoil		er Plates And C lite Services LL		XGD Systems	s, LLC dba Eco	Blue Systems
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #
GENERAL							•						
Х	122	Mobilization, Incl. Video Survey Staking & As-Builts Drawings	1	LS	\$0.00	\$0.00	101-99	\$65,000.00	\$65,000.00	101-99	\$8,712.00	\$8,712.00	101-99
Х	123	Maintenance of Traffic / Parking / Detours	1	LS	\$0.00	\$0.00	102-1	\$2,500.00	\$2,500.00	102-1	\$0.00	\$0.00	102-1
Х	124	Turbidity Barrier/ NPDES Compliance (Erosion Control)	1	LS	\$0.00	\$0.00	104	\$2,500.00	\$2,500.00	104	\$0.00	\$0.00	104
Х	125	Silt Fence (Sediment Barrier)	600	LF	\$0.00	\$0.00	104-10-3	\$4.00	\$2,400.00	104-10-3	\$3.34	\$2,004.00	104-10-3

		ALTERNATE NO. 5	;		Mike	e's Organic To	opsoil		er Plates And C Site Services LL		XGD System	s, LLC dba Eco	Blue Systems
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #
Х	126	Clearing and Grubbing / Demolition	0.2	AC	\$0.00	\$0.00	110-1-1	\$2,500.00	\$500.00	110-1-1	\$4,209.10	\$841.82	110-1-1
X	127	Regular Excavation	60	CY	\$0.00	\$0.00	120-1	\$100.00	\$6,000.00	120-1	\$27.36	\$1,641.60	120-1
Х	128	Embankment	85	CY	\$0.00	\$0.00	120-6	\$40.00	\$3,400.00	120-6	\$14.18	\$1,205.30	120-6
ROADWAY					1	<u> </u>		<u> </u>		L	L		
Х	129	Type B Stabilized Subgrade	700	SY	\$0.00	\$0.00	160-4	\$8.00	\$5,600.00	160-4	\$93.91	\$65,737.00	160-4
X	130	Optional Base Group	700	SY	\$0.00	\$0.00	200-6	\$18.00	\$12,600.00	200-6	\$26.11	\$18,277.00	200-6
X	131	Asphalt 2" SP 12.5 Traffic C	33	TN	\$0.00	\$0.00	334-1-14	\$700.00	\$23,100.00	334-1-14	\$720.01	\$23,760.33	334-1-14
X	132	Performance Turf, Sod (10 Feet @ Parking)	550	SY	\$0.00	\$0.00	510-1-2	\$4.50	\$2,475.00	510-1-2	\$4.39	\$2,414.50	510-1-2
X	133	Single Post Sign, Furnish & Install, up to 12 Square Feet (SF)	8	EA	\$0.00	\$0.00	700-1-11	\$500.00	\$4,000.00	700-1-11	\$247.20	\$1,977.60	700-1-11
X	134	Thermoplastic Solid 6"	1600	LF	\$0.00	\$0.00	701-17101	\$2.00	\$3,200.00	701-17101	\$1.48	\$2,368.00	701-17101

		ALTERNATE NO. 5	;		Mik	e's Organic To	psoil		er Plates And C Site Services LL		XGD System	s, LLC dba Eco l	Blue Systems
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #	Unit Cost	Total	Pay Item #
Х	135	Handicap Parking Symbols	1	LS	\$0.00	\$0.00	700-001	\$1,000.00	\$1,000.00	700-001	\$1,920.02	\$1,920.02	700-001
LANDSCAPE ,	/ IRRIGATION			,		,	,		·				
X	136	LANDSCAPE MAINTENANCE	1	LS	\$0.00	\$0.00	1010-1	\$2,000.00	\$2,000.00	1010-1	\$2,145.62	\$2,145.62	1010-1
Х	137	EAST PALATKA HOLLY (P)	8	EA	\$0.00	\$0.00	1010-3	\$750.00	\$6,000.00	1010-3	\$540.01	\$4,320.08	1010-3
Х	138	GOLDEN CREEPER	846	EA	\$0.00	\$0.00	1010-12	\$6.00	\$5,076.00	1010-12	\$7.20	\$6,091.20	1010-12
Х	139	ROOT BARRIER	225	LF	\$0.00	\$0.00	1010-13	\$60.00	\$13,500.00	1010-13	\$72.00	\$16,200.00	1010-13
Х	140	SOIL	40	CY	\$20.00	\$800.00	1010-14	\$50.00	\$2,000.00	1010-14	\$60.00	\$2,400.00	1010-14
Х	141	MULCH	20	CY	\$20.00	\$400.00	1010-15	\$60.00	\$1,200.00	1010-15	\$72.00	\$1,440.00	1010-15
Total						\$1,200.00			\$164,051.00			\$163,456.07	